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1. Solve the following ordinary differential equations:
() y"-3y"+3y'—y=x"%"; (10%)
5 x

Xe

(®) xy’=y+4y3 , y1)=0;(5%)

©) Y+A+y Y =0.(5%)

2. Solve the following initial value problem by using Lapalce transforms:
Y'+y=3cos2t, y0)=0, y'(0)=0 (15%)

[ 2 3 4 7 -8
i 3. 4 7 -9
3. Formatrices A= ! , b, = ,and b, =
-2 99 0 -3 -11 104
3 921 -1 2 11 921

(a) find the determinant |A|; (6%)

() compute (44,44, if 4, 4, A4, A, are the four eigenvalues of A; (4%)

(c) solve the three linear systems of equations Ax=b,, Ax=b,,and Ax=2b,-b,
where x=[x x, x, x,1".(10%)

4. For three points A(1, -1, 2), B(-1, -1, 0), and C(0, 1, 3) in the x-y-z coordinate space,
(a) determine the equation for the plane passing through A, B, and C; (6%)
(b) what is the value of angle ZBAC? (3%)

(c) what is the area of the circle ' passing through A, B, and C? (3%)
(d) evaluate the integral I[ ¥ z2(3x* + z2)dx + 2xyz2(x* + 2 )dy + 0 (x* + 3zz)dz] from B
toCalong I.(8%)

e-I

5. If f(x) isaperiodic function with a period of 2 and f(x) =

for -1<x<1,
(a) find the Fourier series of f(x); (10%)

(b) use the result of (a) to prove that 5: L) A (5%)
2 =T (5%
P “~ 1+n*n? 2

(c) use the result'of (a) to solve the following partial differential equation:

au l az -ai(ol t)=0
5‘='T?33c_: with B.C.’s ai forall? and LC. u(x, 0)=¢™* for0<x<1.
¢z -'a-x—(l, =0

(10%)
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1 ~ 2753 HH Internal Rate of Return (3% ) + External Rate of Return (3% ) ~ Explicit Reinvesiment
Rate of Return (3%) ZEFHE - )

2~ 5 - Z - WERRIN=A%E A=A LI s e B RETEIEE ? (5%)

3 TRERNNEEFEEARZHIRE - SRR R -
SRHE 5 RIE L
e T SE(%)

HE HIOEAE AR A B C
A 35000 13
B 75,000 15 5
C 110,000 16 7 20
D 200,000 14 10 13 12
arif -

(1) & MARR=14% » JEREZET T (5%) ? FERBA? (2%)
(2) # MARR=7% » FEBRIZHIESZE (5%) ?RERBH? (3%)

4~ ERAE—REAERER 5% EEERRER - 28R - SRR ZHNRERE (£5%)
FIREM ? (10%)

5 EBERE—CHA S FNERTHE  HRARFERE 5 £ Mk TRESRERRS 12
o FEIMEIRE TR P RTEE - Frid B ETE s BASERySHE A 71 5S 60,000 JTET 160,000
JL B ETE 5 fFRiZIEE AR 500,000 5T HETAEIEEEE 225,000 » 7 75,000 JC » AT
T ZHEIBRAS 50,000 JT ; TMERAEISEFT RV AES 900,000 - LR {EATEZHRMZR(MARR)
5 10% » HALMFESRPIETEESME S ERHETHE ? (11%)
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7 - FAEFIRMAEE A 400 AZHN > Hrh 250 RSB Y - REEGE R EHRAE 40 [AIMBTE
AR Hep B a2+ - 3K
(1) FRMAEET » 2R MBSE BT HER? (5%)
(2) {ERIEBERRREAITY » BB EERNERER S (5%)

8 » HiF— TR EC BN RE(Cm)(EER » FifSrENR - ARMEBER BTERE
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1 | 213 4{s516 | 7|89 10|11 |12
A |76 (82 |68 |58 (69 (66 |63 |77 |60 '
B |67 |81 |94 [86 |78 |77 |89 [79 |83 [87 |71 |84

9 » ~RIBRFERITRAGM A ERREERIECR - IR SR ERIRE R R SR ER
PR BB A R R E AT R R T . - FRR S B (ng/ o AT T R - &
0.05 FYEEEZKHET » BEPNEE SRpR R PR AR R R T RAL « (20%)

HEERE (Treatment) WAl | B B

» FHE g |
s - EHERIRE R 18 514 330
TR BRI RIR B 18 o430 360
s - REMZERIREIE 18 590 460
WrR o RERZEEREES | 0 18 450 325
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FIBIER (BRURR ) 1 1=10.0%

e —
o) CF/P) /R (F/A) (P/A) CA/F) (A/P) (A/G)
T —————
1 1.10517 0.,90484 1,00000 0.90484 1.00000 1.10517 0.0000g
2 1.22140 0.81873 2.10517 1.72357 0.47502 0.58019 0.47502
3 1.34986 0.74082 3.32657 2,46439 0.30061 0.40578 6.93344
4 1.49182 0.67032 4,67643 3.13471 0.21384 0.31901 1.37515
5 1.64872 0,60653 6,16826 3.74124 0.16212 0.26729 1.80086
6 1,82212 0.54881 7.81698 4.29005 0.12793 0.23310 2.21012
7 2,01375 0.49659 9.63910 4.78663 0.10374 0.20892 2,60323
8 2,22554 0.44933 11.65285 5.23596 0.08582 0,19099 2.98060
9 2,45960 0.40657 13.87839 5.64253 0,07205 0.17723 3.34227
10 2.71a828 0.36788 16.33799 6.01041 0.06121 0.16638 3.68856
11 3.00417 0.33287 19.05628 6.34328 0.05248 0.15765 4,0197¢
12 3.32012 0.30119 22.06044 6.64448 0.04533 0.15050 4,33618 .
13 3.66930 0.27253  25,38056 6.91701 0.03940 0.14457 4,63814
14 4.05520 0.24660 29,04586 7.1636L 0.03442 0.13959 4,92598
15 4.48169 0.22313 33.10506 7.38674 0,03021 0.13538 5.20008
16 4,95303 0.20190 37.58674 7.58863 0.02661 0.13178 5.46081
17 5.47395 0.18268 42.53978 7.77132 0.02351 0.12868 5.70858
18 6.04965 0.16530 48,01372 7.93662 0.02083 0.12600 5.94373
19 6,68589 0.14957 54.06337 §.08618 0,01850 0.12367 6.16673
20 7.389086 0.13534 60,74527 8.22152- 0.01646 0.12163 6.37798
21 8,16617 0.12246 68.13832 8.34398 0.0l468 0.11985 6.57790
22 9,02501 0.11080 76,30449 8.45478 0.01311 0.11828 6.76690
23 9,97418 0.10026 85,32951 8.55504 0.01172 0.11689 6.94542
24 11,02318 0.08072 95,30369 8.64576 0.01049 £.11566 7.11388
25 12,18249 0.08208  106.32686 8.72784 0.00540 0.11458 7.27269
26 13,46374 0.07427 118.50936 8.80211 0.00844 ¢.11361 7.42228
27 14.87973 6.06721  131.97310 8,86932 0,00758 0.11275 7.56305
28 16,44465 0.06081  146.85283 8.93013 0.00681 0.11198 7.69541
29 18,17415 0.05502 163.29744 9,98515 0,00612 0.11129 7.81975
30 20,08554 0.04979  181,47162 9,03494 0.00551 0.11068 7.93646
BEEUER : 1=10.0%
—_—
(N (F/P) (P/F) - (FrA) {P/A) (A/F) (A/P) (A/G)
T —
1 1.10000 0.90509 1.00000 0.90309 1.00000 1.10000 0.0000g
2 1,21000 0.82645 . 2,10000 1,7355¢ 0.47619 0.57619 0.47619
3 1.33100 0,75131 3.31000 2,48685 0.30211 0.40211 0.9365g
4 1.46410 0.68301 4,64100 3.16987 0.21547 0.31547 1.33117
5 1.61051 0.62092 6.10510 3.79079 0.16380 0.26230 1.81013
6 1,77156 0.56447 7.71561 4,35526 0.12961 0,22961 2.2235¢ .
7 1,94872 0.51316 9.48717 4.86842 0.10541 0.20541 2.62162
8 2.14359 0.46651 11;43589 5.33492 0,08744 0.18744 3.00448
9 2.35795 0.42410 13.57948 5.75902 0.07364 . 0.17364 3,37235
10 2,59374 0.38554 15,93742 6.14457 0.06275 0.16275 3.72516
11 .2,85312 0.35049 - 18,53117 6,49506 0.05396 0.15396 4.06405
12 - 3,12843 0.31863 21,38428 6.81369 0.04676 0.14676 4.38840
13 3,45227 0.28966  24.52271 7.10336 0,04078 0.14078 4.69879
. 14 3.79750 0.26333  27.97498 7.36669 0.03575 0.13575 4.99553
15 4,17725 0.23939  31,77248 7.60608 0.03147 0.13147 5.27893
16 4.59497 0.21762 35.94973 7.82371 0.02782 0.12752 5,54523
17 5.05447 0.19784 40.54470 8,02155 0.02466 0.12466 5.80710
18 5.55992 0.17986 45.59917 8.20141 0.02193 0.12192 6.05256
19 6.11591 0.16351 51.15909 8,36492 0.01955 0.11955 628610
20 6,72750 0.14864 57.27500 8.51356 0.01746 0.11746 6.50808
21 7.40025 0.13513 64.00250 8.64869 0.01562 0.11562 6.,71888
22 8.14027 0,12285 71.40275 8.77154 0.01401 0.11401 6.91889
23 8,95430 0,11168 79.54302 8.88322 0.01257 0.11257 7.10848
) 24 9,84973 0,101523 88,49733 8.98474 0.01130 0.11130 7.28805
25 10.83471 0.09230 98.34706 3.07704 0.01017 0.11017 7.45798
26 11,91818 0,08391  109.18177 9.16095 ‘0.00916 0,10916 7.61865
27 13,10999 0.07628  121.09994 9.23722 0.00826 0.,10826 7.77044
28 14.42099 0.06934  134.209%4 9.30657 0.00745 0,10745 7.91372
2%  15,86309 0.06304  148,63093 9.36961 0,00672 0.10673 8.04886

30 . 17.44%40 0.05731°  164.49402 5.42691 0.00608 0.10608 8.17623
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The entrfes in the table glve the critical values

of ¢ for the specified number of degrees : | }
of freedom and areas in the right tail. -

] ¢

Area in the Right Tail under the ¢ Distribution Curve

df 10 08 025 01 005 001
t 3.078 6314 12,706 31.821 63,657 318309
2 1.886 2.920 4,303 6,965 9,925 22327
3 1.638 2.353 3,182 4.541 5.841 10.215
4 1.533 2,132 2,776 3.747 4,604 7173
] 1.476 2.015 2.571 1365 4.032 5.893
6 1.440 1.943 2,447 3.143 3,707 5.208
7 1415 1.895 2.365 2.998 1.499 -4.785
8 1.397 1.860 2.306 2.896 1.355 4.501
9 1.383 1.833 2262 2.821 3.250 4.297
10 1372 1.812 2,228 2.764 3.169 4.144
- 11 1.363 1.796 2201 2.718 3.106 4.025
12 1.356 1.782 2.179 2.681 3,055 3.930
13 1.350 1.771 2.160 2.650 1.012 3.852
14 1.345 1.761 2.145 2.624 2977 3.787
15 1.341 1.753 2.131 2,602 2.947 3.733
16 1.337 1.746 2,120 2,583 2.921 3.686
17 |7 1333 1.740 2.110 2.567 2.898 3.646
18 1,330 1,734 2.10 2.552 2.878 1,610
19 1.328 1.729 2,093 2.539 2.861 1579
20 1,325 1.725 2.086 2,528 2.845 3.552
2] 1.323 1.721 2.080 2.518 2.831 31.527
22 1.321 1.717. 2074 + 2,508 2.819 3.505
23 1.319 L714 2,069 2.500 2.807 3,485
24 1.318 L7 2.064 2,492 2.797 3.467
25 1.316 1708 2060 2.485 2.787 3,450
26 1315 1.706 2.056 2479 2,719 3.435
27 1314 1.703 2.052 2473 .27 3421
28 1313 1.70 2.048 2,467 2.763 3,408
29 1.311 1.699 2.045 2.462 2.756 '3,396
30 1.310 1.697 2,042 2457 2,750 3,385
31 1.309 1.696 2.040 2.453 2.744 3375
12 1,309 1.694 2,037 2.449 2.738 1365
13 1.308 1.692 2.035 2.445 2733 3.356
34 1.307 1691 2032 2.441 2,728 3,348
35 1.306 1.690 2.030 2.438 2,724 3.340
6 1.306 1.688 2.028 2434 2,719 3333
37 1.305 1.687 2,026 2431 2,715 3.326
g 1.304 1686 2,024 2429 2712 1319
39 1.304 1.685 2,023 2,426 2,708 3,313
0 1.303 1.684 2.021 2423 2.704 . 3,307
= 1.282 1.645 1.960 2.326 2.576 3,090




